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I, Long form of periodic table is constructed on the basis of:

(A) Mass number  (B) Atomic number (C) Atomic mass (D) :\*.-ug:adrn'slnmnbcr
2. The longest period of periodic table is;

(A) Third (B) Fourth (C) Sixth (D) Seyenth
3. The number of electrons participated in single covalent bond is:

(A) 2 (B) 4 ()6 (D) §
4. The apparatus used (o measure the atmospheric pressure is:

(A), Hydromater' o BY Barometer (C) Thermometer (D) Ammeter
5. \Brass I a solid solution of;

(A) ZnC (B) Zn-Fe (C) /n-Cu (D) Zn-Al
0.  The simplest way to distinguish between solution and pure liquid is:

(A) Evaporation  (B) Distillation . (C) I'II}'dr‘El[i{}Il (1)) Halogenation
7. The example fo strong electrolyte is:

(A) CHyCOOH  (B) Ca(OH), (C) CgHg (D) NaOH
8. The Oxidation number of chlorine in KC1O is:

(A) +1 (B) +3 (C) +5 (D) +6
9. The colour of flame of Calcium in air is:

(A) Brick red (B) Goldenyellow (C) Redish brown (D) Purple black
10, The element which occur in liquid state at room temperature is:

(A) Sodium (B) Copper (C) Zinc (D) Mercury
I, The empirical formula of Hydrogen per oxide is:

(A) CH (B) HO (C) CHy0 (D) Si0
12, The helium nuclel (He?') among these Is:

(A) Alphaparticle  (B) Betaparticle  (C) Gemmanparticle (D) Neutral particle




